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What is 2 of 284

Fill in the missing number:
? x 1000 = 40

If Ethan has 3 bars of chocolate and he eats 1 and % how much does he
have left?

How many seconds are there is 4.6 minutes?

A group of 25 people club together for the National Lottery and win
£141,950.
How much will they each get?

You can use a calculator for this question.

Jen bought a motorbike. She paid a 15% deposit, and paid the remainder
over the course of the following 17 months.

If each monthly payment was £350, what was the total cost of the
motorbike?



